3pc Rear Side Window
Guard Top Brkt
837-0436A

4pc Rear Side Window

GuardBottom Brkt
837-0435A

3pc Rear Side Window
Guard Top Brkt
837-0436A

Guard Brkt

DS Window Guard
837-0433A

4pc Rear Side Window
Guard Bottom Brkt
837-0435A

Hardware List: (To Bag)

8pc Rear Side Window Bottom Brkit 837-0435A
épc Rear Side Window Top Brki 837-0436A
9pc Rear Window Guard Brkt 837-0437A
18pc 10-32 x 1/2 Screw

42pc #10 Flat Washer

18pc 10-32 Nyloc Nut

18pc #14 Self Tapping screw 1lin

18pc 1/4 Flat Washer

9pc Rear Window

REV. DESCRIPTION

837-0434A

Guard Brkt
837-0437A

NAME DATE

DRAWN BW 10DEC14
cHecked | AD 10DEC14

THE INFORMATION CONTAINED
WITHIN THIS DRAWING IS
PROPRIETARY AND CONFIDENTIAL.
AND IS THE SOLE
PROPERTY OF DandR
ELECTRONICS CO. LTD. IT MAY

NOT BE REPRODUCED AT WHOLE  MFG

OR IN PART WITHOUT THE
WRITTEN PERMISSION OF DandR
ELECTRONICS CO. LTD.

FINISH
Midnight Black Wrinkle

BY DATE APPROVED

DS Window Guard
837-

0433A

REAR Window Guard

9pc Rear Side Window

iR ELECTRONICS CO.n RDQV'\‘QDR'ANSLA SIZE
APRIL 1,2009 A

Path: YAAMECH ENG\MECH_DESIGN\2015 Expedition MAXX Window Guards\
File: 937-0337A
Date: December-18-14 9:28:44 AM

DESCRIPTION:

2015 Expedition MAXX
Rear Window Guards

. NO. CATALOG. NO.
937-0337A XXX
SO 937 0337A SHEET 1 OF 1
MATERIAL REV.
14ga CRS 0



	Sheet1
	Drawing View3


